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Questions 1 to 10 canry 1 mark each.. Questions 41 to 15 carry 2 marks each.

For each question, four options are given. One of them is the comect answer.

Make your choice (1, 2, 3 or4). Shade the correct oval (1, 2, 3 or4) on the

Optical Answer Sheet. (20 marks)

1. Which of the following is the same as *536 m?

() 0.06cm
2y 0Boeom
3) 6om
(4) ©6Ccm

2. Which of the following fraction is the smallest?

L
@ =
@ 2
@ L

3. Rani took 18 min to jog 3 km. What was her average speed in km/h?

()  6kmm
2) 10 kmh
(3) 54kmh
(4) 60 kmh

2 . . - (Goontothe nextpage)



4.

En Yang bought 10 pens. He gave the cashier $50 and received a change of

$p. Express the cost of one pen in ferms of p.

() $(50+p
2)  $(500—10p)

50-p
3
@3 ¥ 10 )

Part of the scale is shown below. Whatis the value of A?

A

2.5 2.6

(1) 2025
) 2525
(3) 2.550
@ 2750

{Go on to the next page)



%of Siti's money was equal to% of Jason’s money.

e .
Express Siti's money as a fraction ofjotal sum of money they had.

(1)
(2)
3

G

|°° 3]45 ey ~jw

b
-

The figure below shows a solid that is made up of 2-cm cubes. The cubes

are stacked on top of one another.

How many more such cubes are

required fo form a larger solid with a volume of 192 cm®?

&)
@
(3)
4)

11
13
24

(Goonto the next page)



8. In the figure below, CD and MN are straight lines.
Which two angles add up to 90°7

(1) 2w and £x
20 2w and 2y
(3 4vand £z
4y Zy and £z

9. Inthe figure below, ABCD is a rhombus and EF is a straight line.
Find £Zm.
F

(1)  31°
2 s6°
@ e2
4 11z

5 o (Goonto t.l'ie next éage) o



10.  Six different designs are shown in the et of a cube.

Which option shows the face marked “?" when a-cube is formed?

AN

Ol = | ?2(

3N O

(1

o)

&)

S A O b

4)

6 ' (Go on to the next page)



11. In the figure, the area of rectangle ABCD is 72 cm?.

Theratio of DE:ECis 1:2andBF :FCis2: 1.
Find the area of the shaded region.

0
e
3
(4)

24 om?
28 cm?
36 cm?

44 om?

12. Debbie spent40% of her money on a pair of shoes and % of the remainder

on a drink. She then had $30 left. How much did she spend on the pair of

shoes?

(1) $10
(2} $24
(3 $36
4) $60

- (Goon to the next page)

—



13. ABCD is a square. The length of WX is -} of the length-of DC and WX = YZ.

14.

What fraction of the area of square is unshaded?

(1
@
)

)

Al pjs Qs O

B

Xaxier sold 50% of the tickets. YiRen and Zana sold the remaining tickets in
the ratio 2 : 3. If Xavier sold 24 tickets more than Zana, how many tickets

were sold aitogether?
(n 72

(2 120

3y 300

(4 360

- ‘ (Go on to the next page)



15. The bar graph shows the number of cups of ice-cream sold over 6 months.

A total of $1800 was collected. How much does each cup of ice-cream cost?

200 1

180 -

160 -

140 -

Number of cupsof 1320 ]

ice cream sold 3

100 -

80 '

50 1

40 +

20 |

0 L_
fan Feb Mar Apr May Jun

(1) $1.50
()  $2.00
(3) $2.50
(4) $3.00

A (Goon to BookletB) . -
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Questions 16 to 25 cany 1 mark each. Wiite your answers in the spaces
provided. For questions which require units, give your answers in the units stated.
(10 marks)

16 Atotal of $10 985 was collected for a Flag Day last Saturday.
. Express this amount to the nearest hundred dollars.

Ans: $

Do not write
in this space

17  Express *;i, as a decimal correct to 2 decimé! places.

Ans:

]

18  The {able shows the amount of rain water collected over a 5-day period.

Day Amount of rainfall (mmy) -
Monday 135
Tuesday 9
Wednesday 0
Thursday 10.5
Friday 7

What is the average rain water collected over the 5-day period?

‘Ans: mm

2 (Goon tc_) the next page)




19 4:10 =

1 25

What is the missing number in the box?

20 In the figure below, what is the perimeter of the figure?

14 cm

Ans: '

P 22 cm -
] L]
y 12 cm 5
2 . .
! cm$—1 ¥
Ans: cm

3 {Go on to the next page)

Do not wiite
in this space




e e Do not write
21 Express 2.8% as a fraction in its simplest form. in this space

Ans:

22 Find the value of 0.24 x 30

Ans:

23  The table shows the number of residents from Maple Estate with
social media accounts.

Type of social media Number of residents
Instagram 45
Facebook g0
Youtube 30

Twitter 55

Express the ratio of the number of residents with Instagram and
Twitter accounts to the total number of residents from Maple Estate
with social media accounts. Give your answer in the simplest form.

Ans:
4 (Go on to the next page)




24 In the figure below, not drawn to scale, JKLM is a parallelogram.

MKN is a straight line. Find the value of £ LKN.

N

Y

55°

98°

Ans:

Do not write
in this space

25  In the figure below, AB and PQ are straight lines.
Given that £BOG = 72° and ZA0Q = 108°, find ZPOG.

Ans:

5 © (Go onto the next page}




Questions 26 to 30 cany 2 marks each. Show your working clearly and write )
your answers in the spaces provided. For questions which require units, give D° "_°t write
your answers in the units stated. (10 marks) | inthis space

26 A rectangular block of wood is 20 cm by 15 cm by 16 cm.
What is the greatest number of 2-cm cube that can be cut from it?

16 cm

15 cm

20 cm

Ans:

27  Mr Lim was asked to form a square with 56 pots of orchids placed at
equal distance from each other. How many pots of orchids should he
place on any ons side of the square such that each side contains an
equal number of pots?

Ans:
6 {Go on to the next page}




28  Sue had 50 more badges than Jeya at first. Jeya gave 8 of her badgeé
1o Sue. Sue now has 3 times as many badges as Jeya. How many
badges did Sue have at first?

Do not write
in this space

29  When Terence was 9 years old, his father was 4 times his age.
In how many years’ time would his father be twice Terence’s age?

Ans:

30  For every $30 a shop keeper eamed, he donates $2 to charity.
A total of $170 was donated to charity at the end of the month. How
much did the shop keeper eam?

Ans: $

END OF PAPER
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Questions 1 to 5 carry 2 marks each. Show your working clearly and write youf
answers in the spaces provided. For questions which require units, give your
answers in the units stated. (10 marks)

1 A confectionary sells fruit tarts at $1.20 each. When a customer buys

4 tarts, she is entifled to buy another one at % the price.
What is the greatest number of fruit farts a customer can buy with $1007

Ans:

2 The figure below is made up of a semicircle and a right-angled isosceles
triangle ABC. AB = BC and the diameter of the semicircle is 28 cm.
Find the area of the shaded part of the figure.

A

Ans: cm?

Do not write
in this space

2 (Go on to the next page)



The table shows the postage charges for sending letters to Japan. Do not write

in this space

Mass

Cost

First 20 g

$1.10

Every additional 10 g or part thereof

35 cents

Victoria posted a letter with a mass of 83 g.
How miuch did she pay for the postage?

fled 4
8 cups of water eanfill 5 of a jug.

When 4 cups of water are poured out, what fraction of the jug is not filled

with water?

Ans: §

Ans:

(Go on fo the next page)



5

ABC and OBC are isosceles triangles. AB =AC, OB = OC, £ ABO =20° Do not write
and ZBOC = 80°. Find Za. _ In this space

Ans: e

4 {Go on to the next page)



For Questions 6 to 18, show your working clearly and write yaur answers in the

spaces provided. The number of marks available is shown inbrackets[ ] at the

A . < Do not write
end of each question or part-question. (50 marks)

in this space

6 Andy has k stamps.
Muthu has thrice as many stamps as Andy but 8 stamps fewer than James.
a) How many stamps do they have aftogether?
(express your answer in terms of k).
b) If k= 9, how many stamps do the three children have altogether?

Ans: (a) (2]

(b) (1]

7 A contest consisted of 30 questions.
For each correct answer, 3 points were awarded.
For each wrong answer, 1 point was deducted.
Mei Ling scored 54 points.
How many questions did she answer wrongly?

Ans: 3]

5 {Go on to the next page)



The average of 4 numbers A, B, C and D was 61. Do not write
After A was decreased by 32, B was increased by 35, C was tripled, Inthis space
and D was halved, the four numbers became equal. '
Find the value of D.at

Ans: [3]

The figure below-is formed by 5 identical squares with 3 similar semi-circles
cut out from it. Fach square has a side of 14 cm.

Find the perimeter of the shaded figure.

" Leave your answer in terms of .

Ans: [3]

6 - (Go on to the next page)



10

AB and BC are two sides of a paralielogram.

M
(i)

Do not write

Complete the paralielogram ABCD by drawing the other two sides inthe { N this space

square grid below.
Measure and write down the size of ~ZBAD:

®

2]

Ans: (i) £BAD= 1]

(Go on to the next page)



11

The pie chart represents the number of fruits sold at a fruit stall. | Do not write

There are 1 080 fruits sold at the stall.

in this space

Pineapples
Durians 25%
125°
80° Mangoes
Oranges

Rambutan

(a)

(b)

Express the number of durians and pineapples as a fraction of the

total number of fruits sold af the stall.

Given that there are 48 rambutans, find the number of mangoes sold.

Ans: {a)
()

2l

(2]
(Go on to the next page)




12

The figure below is not drawn to scale. PQXS is a parallelogram, QRX and | Do not write
QXY are isosceles triangles, TW // PQ and £ PUT = 102°. SXRisa in this space
sfraight line.
{a} Find «RQX
(b) Find ~S8YQ
P Q
102°
11
I R
Ans: (a) f2]
(b) 2]

9 (Go on to the next page)



13  Asupermarket and a bank, 500 m apart, are situated between Mrs Ting's Do not write

house and Mdm Leela's house, as shown below. _ in this space
500 m
¢ 4 &- o
#idm Leela's Supemarket Bank s Ting's
house house

The bank is half-way between the two houses.

Mrs Ting and Mdm Leela left their homes at the same time and arrived at
the supermarket at the same time. Mrs Ting drove at a speed of 65 km/h
while Mdm Leela drove at a speed 10 km/h slower than Mrs Ting.

(@ How much further did Mrs Ting fravel than Mdm Leela?
(b) How far is Mdm Leelas house from the bank?

Ans: (a) [1}
(b) 131
10 {Go on to the next page)




14

- discount for the calculators.
{a)  What was her savings on the 3 pans?

Mrs Tan bought 3 pens and 2 calculators from a book store during a sale. PO ‘}Ot write
She spent a total of $68.40 altogether. She spent $32.40 more on the in this space
pens than the calculators.

The total discount for all the items was $18.60 and she was given a 25%

{9)] What was the percentage discount given for the pens?

Ans: (a) 2
{b) [2]
11 (Go on to the next page)




15

There are a total of 510 purple and red ribbons. Do not write
2 ) in this space
After 3 of the purple ribbons and 25% of the red ribbons were used to

decorate the school hall, there were twice as many red ribbons

as purple ribbons.

(@  How many more purple ribbons than red ribbons were used?
(o)  How many ribbons were left in the end?

Ans: (a) £3]

(b} [1]
122 (Go on to the next page)




16 The figure is madeé up of identical fiiangles. Do not write
in this space
€& 1 jayer
&= 2" [ayer
& 39 |ayer
4 4% jayer

(a) Complete the table-for layers 5 and 10.

Layer- Number of Triangles
1 1
2 3
3 5
4 7
5 0]
10 )]

{b) Each small tiangle has a base of 4 cm and a perpendicular height
of 3 cm. Find the area of all the triangles af the 30 layer.

13

Ans: (a) (). ]
@_ [ -
(b) B3]

(Go on to the next page) ‘



17 Mei Ling had some red beads and green beads in 2 boxes. 1 Do not write
In box A, the ratio of the number of red beads to the number of green beadsj % this spacs
was 5 : 4. '

In box B, the number of red beads was twice the number of green beads.

Mei Ling transferred % of the green beads from Box A to Box B.

The number of beads in Box A became 126 and the ratio of the number of
red beads to the number of green beads in Box B became 5:6.

(a) How many green beads were transferred from Box A to Box B?

(b) VWhat was the number of beads in Box B after the transfer?

Ans: (a) 12

(b} 3]
14 (Go on to the next page)




18

Tank X, measuring 40 cm by 30 cm by 98 cm, is % - fitled with water.

Tank Y, with a square base of side 50 cm, is empty.

Water from Tank X is slowly poured into Tank Y unil the water level in
Tank X is 2 times the height of the water level in Tank Y.

What is the height of the water level in Tank X?

28 cm

50 cm

Ans:

END OF PAPER .

15

5]

Do not write
in this space
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Qi | 2[4 [ Q5] a6 ] Q7

Q8 [ Q9 [q10 Q.ll' Q12[Q13] Q14 [ Q15

3 1 42 3 [2 |42 3 [z 212 [ 2142 3
16)$11000 17)0.57 18)8 mm 19)10 - 20)110 cm
21)7/250 22)7.2 23)5:11 24)153° 25)36°
26)560 27)15 28)91 29)18 30)$2550
Paper 2

1)4 x $1.20 = $4.80
1/3 x $1.20 = $0.40
$4.80 + $0.40 = $5.20
$100+$5.20 = 19 R $1.20
(19 x5)+1 = 96

2)12x28x14 = 196 cm2

3)83 —20 =63
63:-10=6R3
7 X 0.35 = 2.45
2.45 + 1.10 = $3.55



4)a/5 — 2f1=2/[5
1-2/5=3/5

5)(180 — 80) +2=150
50 + 20 =70
70 x 2 = 140

180 — 140;;40{‘ P S

6)a)A>K
M->J k 7K+ 8

I>Ik+8

b)7 x 9x8=61+8 =71

7)30 x 3 = 90
90 — 54 = 36
1+3 =4

36=4 = 9 question

8)61 x 4 = 244
13u->244 + 35-32 = 247
1u>247+13=19
19x 6 = 114

9)3/2x 11 x14=2111
21 I+ (14x7)=21 IT + 98cm

10)i) . ——
: ®

M /.— :\_k

11)a)1080-360 = 3
125 + 90 = 215
3 x 215 = 645
645/1080 =43/72

ii)67°



11)b)3 x 80 = 240
145 x 3 = 435
435 — 240 — 48 = 147

12)a)180° —102° =78°
78° x 2 = 156°
ZRQX > 180° —156° = 24°

b)180° — 78° = 102°
(180° —102° ) +2 = 39°
£SYQ > 180° -39° =141°

13)a)500 x 500 = 1000
b)10km->1h
1km->1/10h
55x1/10 =5.5
55+ 0.5 =6km

14)a)$68.40 — $50.40 = $18
© $18+75 = $0.24
$0.24 x 25 = $6
$18.60 - $6 = $12.60
b)12.60/63 x 100 = 20%

15)a)1u>510=17 = 30

6—2=4

30x4 =120
b)30 x 9 = 270

16)a)i)9

i)19
b)/2x4x3 =6

2x30 = 60

60~1 =59

59x6 =354 cm:

17)a)126+6 = 21
21x3 =63
b)7p2>63
ip>7
22p->22 x 9 = 198 beads



18)40 x 30 = 1200
1200 x 2 = 2400
50 x50 = 2500
2500 + 2400 = 4900
34 x98 x40 x30= 88200
3882004900 =18
18x 2 =36 cm
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